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(Random Number)

V
white Schmidt

(1975)

FUNCTION RANDYIX)

X = IX*16807

IF (IX.LT.0) IX = IX + 2147483647 + 1
RAND = IX

RAND = RAND0.465661E-9

IX SEED

N(h<52)

Box ~ Muller (1958)
N(0,1) 2
(generator) Z1 22
Zx = (-2 In R1)1/2 COS(2IIR2)
22 (-2 In RX)1/Z sin(2TTR2)
Rt R FUNCTION RAND(IX)

1 = +(5Z
22 =h+ (522



§
62 SUBROUTINE NORMRVEANSDEX)

SUBROUTINE NORMRMEANSD, EX)

COMVEN /SEEDIIX KK

Pl = 20,

IF (KK.EQ.) GOTO 10

ROE = RAND(IX)

RWO = RAND(X)

ZONE = SORT(-2*ALOG(RONE) J*COS(2*PI*RTWO)
ZMO = SORT(-2PALQG(RONE) J*SIN(2*PI*RTWO)
EX = ZONE'SD+ RVEAN

K = 1

104



1273
130.0
132.7
1294

1-2

1-10
11-20

1-10
11-20

20.96
21.40
21.96
21.52

62



135.0
1371
1412
142 8
1455
1453
148.3
146.4
150.2
153.1
157.3
160.7
164.2
165.6
168.7
1717

22.39
22.76
23.48
23.66
24.1

24.01
24.54
24.3

25.0

25.64
26.36
26.98
21.52
21.78
28.24
28.78

ORDINARY LEAST SQUARES ESTIMATES FOR PARAVETERS

B0

-1.45458

Bl =

0.17628

DIFFRENCE TRANSFORMATION ESTIMATES FOR PARAVETER

B =

0.16849

NONLINEAR LEAST SQUARES ESTIMATES FOR PARAVETERS

F =

0.78763

G=

-0.13825

B =

0.17118

106
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BO 31 b
1
B 31 b
F p
G $
B 3
[ [

PYn +§ + 3(XtH - pxn)
= PYnetd + 8 Bt - Prastl) t =2

Y 11

=
I
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MAIN

OO

DIMENSION YOH(12), YDH(L2), YNH(L2)
COVMIN JALIN, Y (62),X(62) IAQIOB(2) /ADIDB
IANINB(2)F,G,B  JAGGIGK3),GG(3,3)

* IASLISX, SXL,9X2, SX12.SX1X, SXLYL, SXY
* IAS2ISY, SY1, SY2, SY12, SYLY, SX1Y,SXY1
READ (5,10) N
10 FORMAT(12)

D030 | = LN

READ (5,20) X (1), Y(1)
20 FORVAT (2 10.0))
30 CONTINUE

CALL OLS

CALL DIF

CALL LS

*

WWRITE (6,70)
70 FORVAT (5X,’X’, 16X."Y’)
D090 | = LN
WRITE (6,80) X (1),Y(I)
80 FORMAT (7X,F10.5,7X,F10.5)
90 CONTINUE
WWRITE (6,100) OB(1),0B(2),DB,F,G,B
100 FORMAT(/,10X, ORDINARY LEAST SQUARES ESTIMATES FOR PARAVETERS',
* |, 10X,'B0 = *\F12.5,3X "Bl = ' F12.5 //,10X,
* 'DIFFRENCE TRANSFORMATION ESTIMATES FOR PARAVETER |
* [ 10X,'B = ' F12. /1,10%,
* 'NONLINEAR LEAST SQUARES ESTIMATES FOR PARAVETERS',
i [ 10X, F = 112.5,3X,°G = *,“12.0,3X, n = 7,F12.5)
300 STOP

END
C
C ORDINARY LEAST SQUARE
C

SUBROUTINE OLS
QOVON A LN, Y (62),X(62)
* IAO/0B(2)

ST =0,
SXT = 0.
SX12 = 0.
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SXTYT = 0,
0101 = 1N

SXT = SXT + X(I)

NT = YT + Y(l)

SXT2 = SXT2 + Xd)**2
SXTYT = SXTYT + Xd)*Yd)

10 CONTINUE
OB(2) = <NFSXTYT - (SXT*SYT))/ (NASXT2-SXT*<2)
0B(1) = SYTIN - OB(*SXTIN
RETURN
E\D

DIFFERENCE TRANSFORMATION
SUBROUTINE DIF

DIMENSION E(50)
QOWEN /A I/ N, Y (62),X(62)

* IAD/ DB
X = 0,
SOV = 0,
0030 | = 2N
YO = Y(l) - Y(I-)
O = Xd) - X(1-)
X2 = XD + XDM2
SOYD = SXOYD + XDAD
30 CONTINUE
DB = SO/ X2
RETLRN
BD
NONLINEAR LEAST SQUARE

SUBROUTINE NLS

DIMENSION E(62)

COVMIN /AN, Y (62) X(62) /AOI OB(2)
* IASLISX,SX1.SX2,5X12,SX1X SX1YL,SXY
* IAS2ISY SY1SY2,5Y12,5Y1Y,SX1Y SXY1
* IAGGIGL(3),GG(3,3) /AN/ NB(2),F,G,B

REAL N\B

CALL SM

DATA SE2,SELE /0.,0./

D0 | =N
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YH = 0B(L) + 0B(2)*X()

E(l) = Y(I) - W
5 CONTINUE
071 =2N
SE2 = SE2 4 E(I-1)**2
SEIE = SEIE + (E(I)*E(I-1)
CONTINUE
RCH = (ETE-D) | (EI)
RHOH = SELE/SE?
F = R
B = 082
G = OB()*-EHOH)
NT = 1
=0
F =0
G =0
B =0
10 CALL CKEG(F.GB)
CALL INV
N = F- QG(It)*GI(1) +GG(12*61(2) + GG(L3)*61(3))
N = G- (GG(2,)7GI(I) T GQR2)*GI(2) + GG(2,3)*G1(3))
BN = B- (QQGfL*GL(L) + GG(3f2)*Q1(2) + Gx3,3)*G1(3))
NIT = NIT+1
FA = ABS(F-FN)
A = ABSGGN)
BA = ABS(B-BN)
F ((JF.EQ.1).0R.(JG.EQ.1).0R.(IB.EQ.1)) GOTO 200
IF <(FA.LT.0.00001).0R.(GA.LT.0.00001).0R (BA.LT.00001)) GOTO 100
IF (NIT.GT.40) GOTO 300
Foo= R
G =
B BN
G010 10
0 F =0
G =0
B =0
A = 0
A =0
My =0
IF (FA.LT.0.00001) THEN
F =1

AFA = FA



200

300

ENDIF

IF (GALT.0.00001) THEN
G =1

AA= (A

ENDIF

IF (BA.LT.0.00001) THEN
B =1

MBA = BA

ENDIF

Foo= R

G = N

B = BN

o=+l

G010 10

IF ((JF.EQ.

IF ((JG.EQ.

IF ((JB.EQ.

N = F

N =G

BN = B

F (FEQ.L) THEN
AL = 6/0.0001
GOTO 325

BD IF

AL = GICiF)

NB(l) = AL

NB(2) = BN

RETURN

BD

INVERSE MATRIX DIMENSION (3X3)

SUBROUTINE INV
DIVENSION A<33),C(3, 3)
COMVEN /AGGIG(3),GG(3,3)

Ad,J) = GG(,))

10 CONTINUE

D1=A(1,1)*A<2,2)*A(
D2=-A(3,1)*A(2,2)*A
DET=D14D?

3,3)+A(1
(1,3)-A(3,

2)¥
2)

(
*A

2
(

1).AND.(AFA.GT.FA)) GOTO 100
1).AND.(AGA.GT GA)) GJTO 100
1).AND.(ABA.GT BA)) GJTO 100

3)*A<3,1)+A(L,3)*
2,3)*A(1,1)-A(3,3)*

111
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CL) = AQ2)*A(3,3) - AB3,2)*A<23)
C(1,2) = - (A(2,1)*A(3,3) - A(3,1)*A<2,3))
C(13) = A(2L*A(32) - ABL)*AR2)
C2,1) = - (A(L2)*A(3.3) - A(3,.2)*A(L,3))
C2,2) = A(LL)*A<33) - A(3,1)*A(1,3)
C(2,3) = - (A(LL)*A(3.2) - A(3,1)*A<1,2))
C3.0) = A(L2*A<23) - A(22)*A(L3)
C(3,2) = - (A(LL)*A(2,3) - A(2,1)*A<L3))
C(3,3) = A(LL*A<22) - A(2,1)*A<L2)
D0 20 | =13
D0 20 J=1,3
IF (DETEQ.0.) DET = 0.00001
GG(IJ) = C(J,1)/DET

20 CONTINUE
RETURN
B\D

MATION XT,

SUBROUTINE SUM
COMVIN /A LIN,Y (62) X (62)
* IASLISX SXL,5X2, sxa2jisxix, SXLYLSXY
* IAS2ISY SY1,5Y2,SY12.5Y1Y.SXIY{SXYI

3L

SX12
SXIX
Sy
SY1
SY2
SY12
SYLY
SX1Y1
SXLY
SXYL
SXY
00 10 1=2,N

XL =9+ X(I-])

YL =Syl +Y(I-I)

K12 = SXI2 +( (I-1)%*2)
Y12 = SYL2 + <Y(I-1)*%2)

Lo 1 U I T I U N T N Y N I A I I A Y O B O |

1
~o
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XY =Y+ <X(IJ*Y(D)
SXIX = SXIX + <X(I-1)*X(1))
SYLY = SYLY + <Y(I-1)*Y(D)

SXIY - SXIY + <X<I-1)*Y(D)
XYL = SXYL + (X(I)*Y(I-D)
SXIYL = SXIYL + <X(I-1)*Y(I-1))

10 CONTINUE
X =X +XN) - X()
S o=y +YN - Y()
X2 =X+ XN - X(I)**2
SY2 YR + V(N2 - Y()**2
RETURN
ED

CREATE MATRIX G,GG

SUBROUTINE CREG(F.G,B)

COMVEN /AIN, Y (62),X(62)

* IASLISX,SX1,SX2,5X12,5X1X, SXLYLSXY

* IAS2ISY SY1SY2,5Y12,SY1Y SX1Y,SXY1

* IAGGIGK3) GG (3,3)

GI(D) = SYLY - BX(SXIY4SXYL) + 24F*BSXLYL - FSY12

* - G*SYL + GHE*SXL + B*BRSXIX - F*B*B*SXL2

GK2) = SY - F*SYL - G*(N-1) - B¥sx + F*B*SXI

GK3) = SXY - FX(SXLY+SXYL) + F¥F*SXIYL - G*sx + F¥G*SXL

x - B*SX2 + PPUBYSXIX - FHFABYSXL2
GG(1,1) = 2B*SXIYL - SYI2 - B*B*SXL2

GG{1,2) = -SYL + B*SXL

GG(1,3) = -SXIY - SXYL + 24F*SXIYL + G¥SXi + 2B*3XIX

* 2*F*B*SX12

GG(2)) = 1+ BFSXL

CG2,2) =

6G(23) = x + XL

(GB(3.1) = SXIY - SXYL + ZFUSKIYL + GSXL + ZB*SXIX
- PFABRSXL

B5(3,2) = SX + FSXL

B6(3,3) = -SX2 + ZHFFSXIX - FHF*SXL

RETLRN

D)
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MAIN

DIVENSION E (62), V(62),OMSE(L2), DMSE(12),

* YOH(L2), YDH(12), YNH(12)

EMVON /AN, Y (62),X (62) JAOIOB(2) ADIDB
* ISEEDIXKK ~ JANINB(2)F,G.B

* IASLISX, SX1,SX2,5X12,9XIX,SX1YL,SXY
* IAS2ISY, SY1,SY2,m 2, SYLY, SXLY, SXY1
* IAGGIG1(3),66(3, 3)

REAL MEANNBNMSE(L?)

DATA BO,BI,MEANIL2.,0. /

$D = SQRTAO.)

DATA BIO,B20,8D/0.,0.,0./

DATA PF PG,PB0.,0.,0./

05 | 1,12
OMSE() = 0.
DMSE() = 0.
NMSE() = 0.
5 CONTINUE

READ(5,i0) N,RHO,IR KK, IX
10 FORMAT(I12,F3.2,14,12,19)
WRITE (6,15) BO,B1,N,RMO,IR
15 FORMAT(5X,"B0 ="5F5.2,3X "Bl =",F5.2,3X,’N =*,13,3X,’RH0 =" |F5.2
* [,5X,IR =,14)
DO 20 1=1,200
A=RAND(IX)
20 CONTINUE
YT = BO+BIXT-rET
ET = P*ET-i + VT, XT~T, VT~N(0,1/, E0~N(0,1/(L-PP))
DO 100 Il = 1,IR
25 DO 30 | = 1,N
CALL NORM(MEAN,SD,EX)
V(1) = EX
X (1) = |
CALL NORM(MEAN,SD,EX)
X (1) = | + EX
PX = 2%22/7.%1/12
X (1) = | + COS(PX)
30 CONTINUE

SE0 = SORT(L/(I-RHO**2))
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CALL NORM(MEANSEOEX)

B = KX
E() = RHOEOMV(1)
Y(I) = BMBL*Xd )+E(1)
04 1= 2N
E() = RHO*E(I-)+V())
Y() = BO+BL*X(I+E()
40 CONTINUE
CALL OLS
CALL DIF
CALL MS
BIO - BIO + OBd)
B20 = B20 + OB(2)
BD = BD + B
PF = PF +F
PG = PG +6
PR =PB+B
100 CONTINUE
BIO = BIO/R
B0 = B20/IR
B = BDIR
PF = PFIR
G = PGIR
B = PBIR
WRITE (6,115)
115 FORMAT(15X, 'B10 7X, 'B20\8X, 'BD\8X, 'PF\8X, 'PG\8X, 'PB’)
WRITE (6,120)BL0,820,8D,PF PG,PB
120 FORVAT <3X,"AV *,4X 6(F10.5)).
N = N+1
N 12 = N+12
00200 11 = 1R
00 140 | = NLNI2
CALL NORV(VEANSD.EX)
V() = EX
Xd) = |
CALL NORM(VEANSDEX)
Xd) = | +EX
PX' = 2%2201*1/12
Xd) = | + COSPX)
140 CONTINUE

SEN = SORT(L/(I-RHO**2))



CALL NORM(VEANSENEX)

N = EX

E(NL) = RHOPEN+V(NI
Y(NL) = BO+BL*X(NL#E(NL)

N o= N
00 150 1=N2NL2
E(l) = KHO*E(I-L)+V()
Y() = BO+BL*X(I)+E(l)
150 CONTINUE
Nl = N+ 1
YOH() =BIO + BZO*X(Nl)
YDH() = Y(N) + BD*(X(N1) - X(N))
YNH() = PF* Y(N) + PG + PBXX(NL) - PF*X(N))
OMSE() = OMSE() + (YOH() - Y(NL)**2
DMSE() = DMSE() + (YDH() - Y(N1)}**2
NMSE() = NMSE(l) + (YNH() - Y(NL)}**2
00 180 | = 2,12

YOHd) = BIO + B20*X(N+I)
YDHA) = YDH(I-) + BDL(X(N+l) - XCN+I-I."
YNHd) = PF * YNH(I-I) + PG + PB*(X(N+l) - PF*X(N+I-1))
OMSEd) = OMSEd) + (YOHd) - Y(N+1))**2
DMSEd) = DMSEd) + (YDHd) - Y(N+I))**2
NMSEd) = NMSEd) + (YNHd) - Y(N+1))**2
180 CONTINUE
200 CONTINUE
BOVEE = 0.
DATA B30M,B3DM,B3NMI0.,0.,0./
DATA B60M,B6DM,BENMI0., 0. ,0 /
DATA B120M,B12DM, BIONMA, 0.,
DO 230 | = 1,12
OMSEd) = SORT'.OMSEd)/IE)
DMSEd) = SQRT(DMSE(I)/IR)
NMSEd) = SQRT(NMSEd)/IR)
IF (1.GT.3) GOTO 210
BOM = B3M + OMSEd)
B3DM = B3DM + DMSEd)
BNV = B3NM + NMSEd)
210 IF (1.GT.6) GOTO 220
B6OM = B6M + OMSEd)
BoDM = BaDM + DMSEd)
BoWM = BoNM + NMSEd)
220 BI20M = B120M + OMSEd)

0./
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BI2DM = BLDM + DMSE()
BINM = BI2NM + NMSE()
230 CONTINUE
BOM = B3OMI3
BIDM = B3DM3
BAM = BINMS3
BEOM = BEOM/6
BADM = BSDM6
BAM = BENMG
BLOOM = BL2OM/12
BI2DM = BL2DM/L2
BINM = BIINM/L2
WRITE (6,235)
235 FORVAT (/,4X,"T" 10X, "0RMSE\LOX, "DRVEE’,10X, ' NRVEE)
00 250 | =1,12
WRITE (6,240) 1,0MSE(1),DMSE(1),NMSE()
240 FORVAT (15,3(5X,F10.5))
250 CONTINUE
WRITE (6,255)
255 FORVAT (15X, "O-MSE’, 10X, 'D-MSE”, 10X, *N-MSE')
WRITE (6,260) BAOMBIDMBINM
260 FORVAT (3X 5AVER 3 7, 3(F10.5,5X))
WRITE (6,270) BSOMBSDV{BSNM
270 FORMAT (3X,AVER 6 *, 3(F10.5,5X))
WRITE (6,280) BL20MBL2DMBI2NM
280 FORVAT (3X,"AVRR 12',3(F10.5,5X))

300 STOP
B\D
RANDOM NUVBRR
FUNCTION RAND(X)
X = IX*16807
IF(IX.LT.0) IX= IX+214748364741
RAND = IX
RAND = RAND*465661E-9
RETURN
BD
NCRVAL DISTRIBUTION

SUBROUTINE NORMRVEANSDEX)
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COMMON /SEEDIIX KK
PI = 27,
F(KK.EQ.) GO0 10
RONE = RAND(IX)
RWO = RAND(IX)
ZONE = SORT(- 2TALOG(RONE) ) *COS(2YPITRTWO)
ZMO = SORT(- *ALOG(RONE) ) *SIN <*PI*RTWO)
X ZONE'SD+ RVEAN
K 1
Q0O 1S
105X ZIWOTSDH RVEAN
K 0
15 RETURN
B\D

ORDINARY LEAST SQUARE

SUBROUTINE OLS
COMVON JAIIN,Y (62),X(62)
* IAOIOB(2)

ST =0

SXT = 0.

SXT2 = 0.

SXIYT = 0.

X) 10 | = 1N

ST = SXT + X(I)

YT = YT + Y( )

XT2 = SXT2 + X(I)¥*2

SXTYT = SXTYT + X(I)*Y()
10 CONTINUE

OB(2) = (N#SXTYT - (SXT*SYT))/ <N*SXT2-SXT**2)

OB(1) = SYTIN - OB(2)*SXTIN

RETURN

END

DIFFERENCE TRANSFORMATION

SUBROUTINE DIF
DIMENSION E(50)
COMVON /A 1/ N,Y (62),X (62)
* JAD/ DB

SXD2 = 0.
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o

=S
=<5

w
o

I
__l\)
~— =

IE)
X(1) - X(I-
XD = X2 + XD
SOD SOV + XOHND
30 CONTINUE
B = 90D/ 9
RETLR
AD

NONLINEAR LEAST SQUARE

558

SUBROUTINE NS

DIVENSION E(62)

COMVEN /ALIN, Y (62),X(62)  /AOI 0B(2)

* IASLISX,SXL,SX2,9X12 SX1X SXLY1
IAS2ISY.SYL,SY2SY12,8Y1Y SXLY,

* IAGGIGK3) ,GG(3,3) IANI NB(2),

REAL NB
CALL SIM

DATA SE2.SELE /0.,0./

05 | = 1N

YH = 0B(1) + OB(2)*X()
E(l) = Yd) -

5 CONTINUE

071 =2N

SE2 = SE2 4 Ed-1)**2
SEIE = SEIE + (Ed)*Ed-I))
7 CONTINUE

RHK = (ETESY) | (E14)
RHH = SE1E/SE2

F = RHH

B = 0BQ)

G = OB(l)*(-RHOH)
NT = 1

o=

F o= 0

G =0

B =0

10 CALL CREG(F,G,B)
CALL INV
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N = F- <GG(LU*GL(L) + GG(L2)*G1<2) + GG(13)*GL(3))
N = G- (GGRI)*GL) +GG6(22*61<2) + GG(2,3)*G1(3))
BN = B- (GG(3,1)*GL(1) + GG(3.2)*G1<2) + GG(33)*G1(3))
NIT = NIT + 1
FA = ABS(FFN)
A = ABSGON
BA = ABSBBN)
F ((F.EQ.1).0R.(JG.EQ.1).0R.(JB.EQ.1)) GOTO 200
F ((FA.LT.0.00001).0R.(GA.LT.0.00001).0R (BA.LT..00001)) GOTO 100
IF (NIT. GT.40) GOTO 300
Foo=
G = N
B = BN
G010 10
0 F =0
6 =0
B =0
AA =0
A - 0
B =0
IF (FA.LT.0.00001) THEN
F o= 1
AFA = FA
ENDIF
IF (GALT.0.00001) THEN
G =1
MA= GA
ENDIF
IF (BALT.0.00001) THEN
B =1
ABA = BA
ENDIF
F N
G e
B BN
J] 141
GOTO 10
200 ((JF £Q.1).AND.(AFA.GT.FA)) GOTO 100
F ((JG.EQ.1).AND.(AGA.GT.GA)) GJTO 100
F ((JB.EQ.1).AND.(ABA.GTBA)) GOTO 100
FN - F
N =6
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BN = B
300 IF (F.EQ.I) THN
AL = 6/0.0001
GOTO 325
AD IF
AL
325 NB(
NB(2

2 =0

I(1-F)

23E5

INVERSE MATRIX DIMENSION (3X3)

SUBROUTINE. INV
DIMENSION A (3,3),C(3,3)
COMNVEN / AGGIG(3), GG(3 3)
D001 =13
D010J =13
A(L)) = G6G(1,J)
10 CONTINUE
DI=A(L, 1)*A(2,2)*A(3, 3)+A( )% (2 3)*A(3,1)+A(L,3)*A<2,1)*A(3,2)
D2=-A(3,1)*A(2,2)*A(L3)-A3.2)*A(2.3)*A(1,1)-A(3, 3)*A(2, 1)*A(1,2)
DET=DL4D?
C(LI) = AQ2*AS) - A(3,2)*A(2,3)
C(L2) = - (AQ2,)*A<33) - A(3,1)$A(2,3))
C(L3) = ARLD*AB2> - ABB.1)*A22>
C(2,]) = - (A(L2)*A<3,3) - A(3,2)*A<1,35)
C(2.2) = A(LL*A<33) - A(3,1)*A(13)
0(2,3) = - (A(LL)*A(32) - A(3,1)*A<1,2))
C3) = A(L2*A(23) - A2,2)*A<L3)
C(3.2) = -(ALL*AQ3) - AQ2,1)*A<L3
C(3,3) = A(LL*AQ2> - AR, 1)*A(L2)
020 | =13
00 20 J=1,3
IF (DET.EQ0.) DET = 000001
GG(lJ) = C(JI)DET
20 CONTINUE
RETURN
B\D

SUMATION XT, YT



*
*

SUBROUTINE SUM
COMVEN /AIIN. Y (62).X (62)

IASI/SX,, SX1, SX2, SX12, SXIX, SXTYL, SXY
IAS2/SY,SY1,SY2,SY12,SY1Y,SX1Y,SXY1

X =0,

XL = 0.

X2 =0,

SX12 = 0.

SXIX = 0.

Sy =0,

YL = 0.

Y2 =0,

Y2 =0,

SYLY = 0.

SXLY1 = 0.

SXIY = 0.

SXYL = 0.

XY =0,

00 10 1=2,N

XU =X+ X (1)

Y1 =Syl +Y(l-)

SX12 = X2+ (X(I-1)**2

Y2 = SYDRD + (Y(I-1)*2>

XY = XY+ <X(I)FY(D)

SXIX = SXIX + (X(I-1)*X(1)

SYIY = SYIY + (Y(I-L)*Y (1))

SXIY = SXIY + (X(I-1)*Y (1))

XYL = SXYI + (X(1)*Y(I-1))

SXIYL = SXIVL + <X(I-L)*Y(I-1)>
10 CONTINUE

X =X +XN) - X()

Y =Syl o+ Y(N) Y(1)

X2 =X+ X(NM2 - X(I)**2

Y2 =YL+ Y(N*2 - Y()*2

RETURN

B\

CREATE MATRIX G,GG

*

SUBROUTINE CREG(F.G,B)
COMVEN /AN, Y (62) X (62)

JAS1/SX,SX1,5X2,5X12,SX1X,SX1Y1,SXY

122
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* /AS2/SY, SY1,5Y2,SY12,SY1Y, SX1Y, SXY1
/AGG/G1(3),G6(3,3)

GI(l) = SYLY - B¥(SXLY+SXY1) + 2*F*B*SXIYL - F*SY12

* - G*SY1 + G*B*SX1 + B*B*SX1X - FTBYBYSX12

GL(2) =sY - F*SY1 - GA(N-I) - B*sx + F*B*SX1

GK3) = XY - F¥(SXLY45XY1) + F*F*SXIYL - G*sx + FG*SXL

* - B*SX2 + 2YFYBYSXIX - F*F*B*SX12

(1,1) = 2*B*SX1Y1 - SY12 - B*B*SX12

) =-SY1 + B*3XI

= -SX1Y - SXYL + 2F*SX1YL + G*SXL + 2*B*SXIX

- 2'FB*SX12

-SY1 + B*SX1

-N+

-SX + F*SX1

-SXLY - SXYL + 2%F*SXLYL + GMSXL + 2*B*SXIX

- 2*F*B*SX12

~SX + F*SX1

-SX2 + 2FSXIX - FFF*OX12

[ S

*
QWO PO -
N—

883 888

2,

~
S———
LI T I I B |

o oo
— O

(ep)
(ep)

>*

83

wo o
I

"



16

1 .. 2504

.. 2533

124



	บรรณานุกรม
	ภาคผนวก
	ประวัติผู้เขียน

